INCH

2 PLACES

—_——————

PP
20 PLACES

T T - r T —r©r  —r ' T T
L

L L L L L L L L

PARTIAL — CONTAINER SIDE

2 I 1
ITEM | QTY. DESCRIPTION WEIGHT
1 2 81C109 INTAKE LOUVER ASSEMBLY 686 Lbs
2 68 91008 BOLT 1/4-20x1 SS S Lbks
3 68 91119 WASHER - LOCK 1/4* SS - Lbs
4 136 o1112 WASHER - FLAT 1/4” SS - Lbs
S 68 100 NUT 1/4-20 - Lbs
6 2 80C244 INTAKE LOUVER ASSEMBLY 198 Lbs
TOTAL 889 Lbs
w ALTORFER POWER SYSTEMS
A3 ALTORFER 6315 W. FAUBER RD. PHONE (309) 697-1234
BARTONVILLE, IL 61607 FAX (309) 282-7546
THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION OF ALTORFER, INC. WITHOUT THE WRITTEN PERMISSION
OF ALTORFER, INC.,, ANY COPYING OR OTHER USE EXCEPT THAT FOR WHICH IT WAS INTENDED IS PROHIBITED
& | pmveEnsTONS N InchEs|FIEE PROJECT REFERENCE
g [UNLESS OTHERVISE SPECFIED DF \80A APS800B C27 POWER MODULE
= TOLERANCES: THIRD SCALE/SHEET SIZE DRAWN BY QUOTE NUMBER
8 [ xx + 0100 [ ANGLE
% [XXX + 0060| PROJECTION 1=10/D D. RICHARDSON
il : SHEET DATE WORK ORDER NUMBER
ANGULAR & 1* '@ = 1 OF 1 9/30/08
_|TTTE INTAKE GROUP DRAWING NUMBER
i el B INTAKE LOUVER MOUNTING 80A828




